NS R E G ERAT Rr7K Y2 & R ME, B, BR%

JB~ JBS yixime

Zm A HE U]
B - -1-
S-632 -2

Z1

.
ER i O
T OfRES (RES fUR g

IR MR R R T
REMRR BEER RE MR KM TR

JB WIRSL, Al 6H, I 2B W WL, S | AR T HRBSO BR HB150

JBS MEBZL, A% 6H, FH| 2B | 300 RIUANLEMN Bt AbEE BT HRB70 5% HB125

I 1] 7))
gog | REARE g | ZEA mE mEm | 4 | B | C E Fo| oL RE2
M B4 | RN ARG 70,08 REG | &/ | BK | BRK | Bk | £0.25 | &/ | &K | +£0.25 | FLidEE
1 1 0.97
M3 x 0.5 JB JBS M3 4,22 3.84 | 4.2 6. 35 5.3 8.5 9.6 4.8
2 1.4 1. 38
1 1 0.97
M4 x 0.7 JB JBS M4 5.41 5.2 | 5.38 7.95 7.1 9.8 11.2 6.9
2 1.4 1. 38
1 1 0.97
M5 x 0.8 JB JBS M5 6. 35 6.02 | 6.33 8.75 7.1 9.8 11.2 7.1
2 1.4 1. 38
1 1.4 1. 38
M6 x 1 JB JBS M6 8.75 7.8 | 8.73 11.1 7.8 | 12.7 14.3 8.6
2 2.29 | 2.21
B R~ (AL 35T in)
goy | REARE g | 2N mm | A [ 8 | c | B | F ol Lo | T | B
A mam | A | N | Toos | B | BN | BK | BK | Bk | £.010 | B/ | Bk | £.010 | FLI4SE
1 .040 | .038
48-40 JB JBS 440 . 166 .150 | . 165 . 250 .210 | . 335 . 380 .19
2 .056 | .054
1 .040 | .038
6#-32 JB JBS 632 . 1875 .169 | . 187 . 280 .230 | .335 . 380 .22
2 .056 | .054
1 .040 | .038
8#-32 JB JBS 862 . 213 .204 | . 212 . 310 .280 | . 385 . 440 .27
2 056 | .054
1 .040 | .038
10#4-32 JB JBS 032 . 250 . 235 | . 249 . 340 .280 | . 385 . 440 .28
2 .056 | .054
1 .056 | .054
1/4-20. JB JBS 0420 . 344 .305 | . 343 . 430 .310 | . 500 . 560 .34
2 .090 | .087
iR 13914003355 (FH5E4) BR % #): 13914002255 (BhoeA)

BEJERS: 13511601078 (F4E) A ML www.szjdph.com



7N ERRRE G BRAE

IR RS

miBR. BEE. BFEh. RS

HEeSH-IB. IBS B /KIE R}

PR A 5T 5052-H34 45 REAN
YRS wE wE Z¥N HH A HH A 7S bl A
AG ARG mm KN N N.m KN N N.m
3 1 1.0 7.1 400 1. 15 11. 1 550 1.5
2 1.4 9 750 1.47 14 1010 2.05
s 1 1.0 8.9 470 2.6 15.6 600 3. 4
2 1.4 12.5 970 4 20 1250 5.1
5 1 1.0 9.3 480 3.6 17.8 620 4
2 1.4 14 845 5.7 25 1112 6.8
6 1 1.4 17.8 1400 10. 2 25. 7 1760 11.9
2 2.3 17.8 1400 10. 2 95. 7 1760 11.9
PR A 5T 5052-H34 48 KELAR
=y
we | Rg | BF R | B B | mmows sy s | BT
440 1 040 1600 90 10 2500 125 13
2 . 056 2000 170 13 3500 230 18
" 1 040 1800 95 17 3000 130 18
B 632
2 . 056 2800 190 22 4000 260 28
il 432 1 040 2000 105 23 3500 135 30
2 . 056 3000 220 35 5000 285 45
032 1 040 2100 110 32 4000 140 35
2 . 056 3500 190 50 5000 250 60
0420 1 056 4000 315 90 6000 400 105
2 . 090 4000 315 90 6000 400 105
T RIER

1. PR IR R I 23 7L, FERIE A #AT I In£RR BRI 2 K — KN T,

2. BBRERN A MR TR, REKREAL (REFRMAE) BEBRSENLE LT GuTED ;

3. RFFEE CEERMESD MR (R AT, AERBESKIRINTTH RS, BRE R 2K,
R BB AT UK R 23R40 . INERAN AR L5

4. BEERRSEE B 2R R R AR RTEH AN T 2N, AR B R B Z 3R 4 R 4 5

5. FEVHERI AT DABG 1L 2235 5 i R B R R AL 30 .

227

AR G kD

T ORELD

.010”/0. 25mm

45° TR AN\

B
+.003”/0. 08Smm
+0. 06”/0. 15mm

By LE{HE

it 2 il R

=

TR JEREED

|

L
+.06”/1. 5mm

=/ME

B ESZE: 13914003355 (FH4A)
SRS 13511601078 (F54)

ARG 13914002255 (BhsieA)

a3 www.szjdph.com



